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α)    Πυθαγόρειο θεώρημα στο τρίγωνο  ΑΒΜ 

       
2 2 2 22 2x 2           

 
22 2x 4 BM x 4        

 

β)    Θα πρέπει πρώτα να διανύσει την απόσταση ΒΜ και έπειτα την ΜΚ. 

Άρα :       2s BM MK 4 x 4 x       

Έχουμε :   
2 2s 4 x 4 x 4 x 4 x

t t t x
u 3 5 3 5

   
        

 

γ)    Θέτουμε :     
2

24 4 x 4 x 4
t x 5 4 x 3 4 x 5 4

3 3 5 3

 
            

2 25 4 x 12 3x 20 5 4 x 8 3x           

 2 2 2 225 4 x 64 48x 9x 25x 100 64 48x 9x            

 
22 2 3

16x 48x 36 0 4x 12x 9 0 2x 3 0 x
2

              

 
 


